

#### **Materials Management**

Purchasing Department 1010ld Venice Road, Osprey, FL 34229 Phone 941-486-2183 • Fax 941-486-2188 SarasotaCountySchools.net

#### **MEMORANDUM**

**TO:** Members of the School Board

Lori White, Superintendent

Mitsi Corcoran, Chief Financial Officer

FROM: Carol A. Lichon, CPPO, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #16-0200 FOR FIRE SPRINKLER

SYSTEM, FIRE SUPPRESSION SYSTEM, FIRE HYDRANT, AND BACKFLOW PREVENTER SYSTEM - INSPECTION AND REPAIR

Bids to provide 'Fire Sprinkler System, Fire Suppression System, Fire Hydrant, and Backflow Preventer System - Inspection and Repairs' were received from six vendors on April 5, 2016. The bid of Piper Fire Protection, Inc., was the best low bid meeting the advertised specifications based on a sealed scenario. Reasons for not selecting the apparent low bid are included with the bid tabulation. This bid is for a period of one year with an option to renew for two additional one-year periods. The funds for these purchases are contained in the transfer from capital budget allocated to the Facilities Services Department.

# Requested by: Jody Dumas

"Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 04/26/2016

Not to exceed **Fiscal Impact:** \$150,000.00

**Recommended Motion:** That the bid of Piper Fire Protection, Inc., to provide 'Fire Sprinkler System, Fire Suppression System, Fire Hydrant, and Backflow Preventer System - Inspection and Repairs' in an amount not to exceed \$150,000.00, be approved as presented.

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

_		4	1									
and (4) in Stan	ide the annual cost by locations to the fire pump) of the fire pump) of the fire aspections and tests, per guidards for the Inspection, Tester-Based Fire Protection Sys	delines of NFPA 25 sting, and Maintenance of		Cintas	Fire Protect	tion			Defend	der Fire Ser	vice	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
1	Ashton Elementary 5110 Ashton Road Sarasota 34233	Mechanical Rm 154 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
2	Atwater Elementary 4701 Huntsville Avenue North Port 34288	Bldg 1 - Rm 175 - 4 risers (Custodial Office)	\$68.75	x 4 =	\$275.00	x 4=	\$1,100.00	\$26.00	x 4 =	\$104.00	x 4=	\$416.00
3	Bay Haven Elementary 2901 W. Tamiami Circle Sarasota 34234	Bldg 2 - Rm 109 - 1 riser Bldg 7 - Rm 101 - 1 riser	\$87.50	x 2 =	\$175.00	x 4=	\$700.00	\$26.00	x 2 =	\$52.00	x 4=	\$208.00
4	Booker High 3201 N Orange Avenue	Bldg 1 - Rm 112 - 1 riser Bldg 2 - Rm 115 - 1 riser Bldg 3 - Rm 108 - 1 riser Bldg 4 - Rm 104A - 1 riser Bldg 5 - Rm 103A - 1 riser	\$58.50	x 9 = riser	\$526.50	x 4=	\$2,556.00	\$26.00	x 9 = riser	\$234.00	x 4=	\$1,040.00
·	Sarasota 34234	Bldg 8 - Rm 119 - 2 risers Bldg 9 - Rm 005 - 2 risers Bldg 10 - Pump Rm - 1 fire pump (Diesel)	\$112.50	x 1 = fire pump	\$112.50	x 4=	ψ2,000.00	\$26.00	x 1 = fire pump	\$26.00	x 4=	\$1,010.00
5	Booker Middle 2250 Myrtle Street Sarasota 34234	Bldg 3 -Rm 307A (Stage) - 1 riser Bldg 14 - 1 riser	\$87.50	x 2 =	\$175.00	x 4=	\$700.00	\$26.00	x 2 =	\$52.00	x 4=	\$208.00
6	Brentwood Elementary 2500 Vinson Avenue Sarasota 34232	Bldg 2 - Rm 115B - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
7	Brookside Middle 3636 S. Shade Avenue Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
8	Cranberry Elementary 2775 Shalimar Terrace North Port 34286	Custodial Ofc - Rm 129 - 3 risers	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in Stand	de the annual cost by locaticost per fire pump) of the fire spections and tests, per guidards for the Inspection, Testr-Based Fire Protection Sys	delines of NFPA 25 sting, and Maintenance of		Flo	rida Fire Servi	ce			Piper Fi	re Protectio	on, Inc.	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
1	Ashton Elementary 5110 Ashton Road Sarasota 34233	Mechanical Rm 154 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
2	Atwater Elementary 4701 Huntsville Avenue North Port 34288	Bldg 1 - Rm 175 - 4 risers (Custodial Office)	\$128.00	x 4 =	\$512.00	x 4=	\$2,048.00	\$53.75	x 4 =	\$215.00	x 4=	\$860.00
3	Bay Haven Elementary 2901 W. Tamiami Circle Sarasota 34234	Bldg 2 - Rm 109 - 1 riser Bldg 7 - Rm 101 - 1 riser	\$128.00	x 2 =	\$256.00	x 4=	\$1,024.00	\$53.75	x 2 =	\$107.50	x 4=	\$430.00
4	Booker High 3201 N Orange Avenue	Bldg 1 - Rm 112 - 1 riser Bldg 2 - Rm 115 - 1 riser Bldg 3 - Rm 108 - 1 riser Bldg 4 - Rm 104A - 1 riser Bldg 5 - Rm 103A - 1 riser	\$128.00	x 9 = riser	\$1,152.00	x 4=	\$6,028.00	\$53.75	x 9 = riser	\$483.75	x 4=	\$2,307.00
7	Sarasota 34234	Bldg 8 - Rm 119 - 2 risers Bldg 9 - Rm 005 - 2 risers Bldg 10 - Pump Rm - 1 fire pump (Diesel)	\$355.00	x 1 = fire pump	\$355.00	x 4=	ψ0,020.00	\$93.00	x 1 = fire pump	\$93.00	x 4=	Ψ2,307.00
5	Booker Middle 2250 Myrtle Street Sarasota 34234	Bldg 3 -Rm 307A (Stage) - 1 riser Bldg 14 - 1 riser	\$128.00	x 2 =	\$256.00	x 4=	\$1,024.00	\$53.75	x 2 =	\$107.50	x 4=	\$430.00
6	Brentwood Elementary 2500 Vinson Avenue Sarasota 34232	Bldg 2 - Rm 115B - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
7	Brookside Middle 3636 S. Shade Avenue Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
8	Cranberry Elementary 2775 Shalimar Terrace North Port 34286	Custodial Ofc - Rm 129 - 3 risers	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and c (4) ins Stanc		sting, and Maintenance of	R	oDan Fire	Sprinklers Sy	/stem, Inc.			Sim	plex Grinnell		
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
1	Ashton Elementary 5110 Ashton Road Sarasota 34233	Mechanical Rm 154 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
2	Atwater Elementary 4701 Huntsville Avenue North Port 34288	Bldg 1 - Rm 175 - 4 risers (Custodial Office)	\$50.00	x 4 =	\$200.00	x 4=	\$800.00	\$116.88	x 4 =	\$467.52	x 4=	\$1,870.08
3	Bay Haven Elementary 2901 W. Tamiami Circle Sarasota 34234	Bldg 2 - Rm 109 - 1 riser Bldg 7 - Rm 101 - 1 riser	\$50.00	x 2 =	\$100.00	x 4=	\$400.00	\$116.88	x 2 =	\$233.76	x 4=	\$935.04
4	Booker High 3201 N Orange Avenue	Bldg 7 - Rm 101 - 1 riser  Bldg 1 - Rm 112 - 1 riser  Bldg 2 - Rm 115 - 1 riser	\$40.00	x 9 = riser	\$360.00	x 4=	\$1,515.00	\$116.88	x 9 = riser	\$1,051.92	x 4=	\$4,675.20
	Sarasota 34234		\$75.00	x 1 = fire pump	\$75.00	*x 1=	ψ1,510.00	\$116.88	x 1 = fire pump	\$116.88	x 4=	Ψ+,073.23
5	Booker Middle 2250 Myrtle Street Sarasota 34234	Bldg 3 -Rm 307A (Stage) - 1 riser Bldg 14 - 1 riser	\$50.00	x 2 =	\$100.00	x 4=	\$400.00	\$116.88	x 2 =	\$233.76	x 4=	\$935.04
6	Brentwood Elementary 2500 Vinson Avenue Sarasota 34232	Bldg 2 - Rm 115B - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
7	Brookside Middle 3636 S. Shade Avenue Sarasota 34239	Bldg 9 - Rm 108 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
8	Cranberry Elementary 2775 Shalimar Terrace North Port 34286	Custodial Ofc - Rm 129 - 3 risers	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in: Stand	de the annual cost by location to the fire pump) of the fire spections and tests, per guidands for the Inspection, Testrassed Fire Protection Systems.	delines of NFPA 25 ting, and Maintenance of		Cintas	Fire Protect	ion			Defen	der Fire Ser	vice	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
9	Emma E. Booker Elementary 2350 Dr. MLK Jr. Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
10	Englewood Elementary 150 N. McCall Road Englewood 34223	Bldg 8 - Rm 001F - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
11	Facilities Services Dept. 7889 Fruitville Road Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
12	Fruitville Elementary 601 Honore Avenue Sarasota 34232	Bldg 9 - Rm 120A - 1 riser Bldg 10 - Rm 124 - 2 risers	\$75.00	x 3=	\$225.00	x 4=	\$900.00	\$26.00	x 3=	\$78.00	x 4=	\$312.00
13	Garden Elementary 700 Center Road Venice 34285	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	\$87.50	x 2 =	\$175.00	x 4=	\$700.00	\$26.00	x 2 =	\$52.00	x 4=	\$208.00
14	Glenallen Elementary 7050 Glenallen Blvd North Port 34287	Rm 814 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
15	Gocio Elementary 3450 Gocio Road Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
16	Gulf Gate Elementary 6500 S. Lockwood Ridge Road Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
17	Heron Creek Middle 6501 W. Price Blvd. North Port 34291	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in Stand	de the annual cost by location cost per fire pump) of the fire spections and tests, per guid dards for the Inspection, Testraged Fire Protection Systems	delines of NFPA 25 ting, and Maintenance of		Flor	rida Fire Servio	ce			Piper Fi	re Protectio	on, Inc.	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
9	Emma E. Booker Elementary 2350 Dr. MLK Jr. Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
10	Englewood Elementary 150 N. McCall Road Englewood 34223	Bldg 8 - Rm 001F - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
11	Facilities Services Dept. 7889 Fruitville Road Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
12	Fruitville Elementary 601 Honore Avenue Sarasota 34232	Bldg 9 - Rm 120A - 1 riser Bldg 10 - Rm 124 - 2 risers	\$128.00	x 3=	\$384.00	x 4=	\$1,536.00	\$53.75	x 3=	\$161.25	x 4=	\$645.00
13	Garden Elementary 700 Center Road Venice 34285	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	\$128.00	x 2 =	\$256.00	x 4=	\$1,024.00	\$53.75	x 2 =	\$107.50	x 4=	\$430.00
14	Glenallen Elementary 7050 Glenallen Blvd North Port 34287	Rm 814 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
15	Gocio Elementary 3450 Gocio Road Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
16	Gulf Gate Elementary 6500 S. Lockwood Ridge Road Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
17	Heron Creek Middle 6501 W. Price Blvd. North Port 34291	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

Provid	de the annual cost by location	on (itemized by cost per riser	-									-
and c (4) ins Stand		e sprinkler systems, for four delines of NFPA 25 sting, and Maintenance of	R	oDan Fire	Sprinklers Sy	/stem, Inc.			Sim	plex Grinnell		
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
9	Emma E. Booker Elementary 2350 Dr. MLK Jr. Way Sarasota 34234	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
10	Englewood Elementary 150 N. McCall Road Englewood 34223	Bldg 8 - Rm 001F - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
11	Facilities Services Dept. 7889 Fruitville Road Sarasota 34240	Bldg 1 - Rm 126, Shops - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
12	Fruitville Elementary 601 Honore Avenue Sarasota 34232	Bldg 9 - Rm 120A - 1 riser Bldg 10 - Rm 124 - 2 risers	\$50.00	x 3=	\$150.00	x 4=	\$600.00	\$116.88	x 3=	\$350.64	x 4=	\$1,402.56
13	Garden Elementary 700 Center Road Venice 34285	Bldg 1 - Rms 150, 151, 152, 155 - 1 riser Bldg 4 - Outside Rm 109, Rm 109D - 1 riser	\$50.00	x 2 =	\$100.00	x 4=	\$400.00	\$116.88	x 2 =	\$233.76	x 4=	\$935.04
14	Glenallen Elementary 7050 Glenallen Blvd North Port 34287	Rm 814 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
15	Gocio Elementary 3450 Gocio Road Sarasota 34235	Bldg 5 - Rm 003C, Stage - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
16	Gulf Gate Elementary 6500 S. Lockwood Ridge Road Sarasota 34231	Bldg 1 - Rms 187C, 180C - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
17	Heron Creek Middle 6501 W. Price Blvd. North Port 34291	Bldg 3 - Room 107 - 1 riser Bldg 4 - Room 100 H - 1 riser Bldg 5 - Room 100 H - 1 riser	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in Stand	de the annual cost by location cost per fire pump) of the fire spections and tests, per guidards for the Inspection, Tester-Based Fire Protection Sys	delines of NFPA 25 sting, and Maintenance of		Cintas	Fire Protect	ion			Defen	der Fire Ser	vice	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
18	Lamarque Elementary 3415 Lamarque Avenue North Port 34286	Bldg 1 - Rm 132 - 3 risers	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00
19	Laurel Nokomis (K-8) 900 E. Laurel Road Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
20	McIntosh Middle 701 S. McIntosh Road Sarasota 34232	Rm 519B - 4 risers Gym - 1 riser	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
	North Port High	Bldg 2 - Rms 106C, 107A, 207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser	\$59.25	x 8 = risers	\$474.00	x 4=	•	\$26.00	x 8 = risers	\$208.00	x 4=	****
21	6400 W. Price Blvd North Port 34291	Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	\$112.50	x 1 = fire pump	\$112.50	x 4=	\$2,346.00	\$26.00	x 1 = fire pump	\$26.00	x 4=	\$936.00
22	Oak Park School 7285 Proctor Road Sarasota 34241	Mechanical Rm 242 - 1 riser Mechanical Rm 243 - 1 riser Mechanical Rm 322 - 1 riser Mechanical Rm 349 - 1 riser Mechanical Rm 431 - 1 riser	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
23	Phillippi Shores Elem 4747 S. Tamiami Trail Sarasota 34231	Rm 210 - 2 risers Bldg 1 - Rm 411 - 1 riser Bldg 5 - Rm 501 - 2 risers	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	\$87.50	x 2 =	\$175.00	x 4=	\$700.00	\$26.00	x 2 =	\$52.00	x 4=	\$208.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and o (4) in Stand	de the annual cost by location cost per fire pump) of the fire spections and tests, per guidards for the Inspection, Testrased Fire Protection Sys	delines of NFPA 25 sting, and Maintenance of		Flo	rida Fire Servi	ce			Piper Fi	re Protectio	on, Inc.	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
18	Lamarque Elementary 3415 Lamarque Avenue North Port 34286	Bldg 1 - Rm 132 - 3 risers	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00
19	Laurel Nokomis (K-8) 900 E. Laurel Road Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
20	McIntosh Middle 701 S. McIntosh Road Sarasota 34232	Rm 519B - 4 risers Gym - 1 riser	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
	North Port High	Bldg 2 - Rms 106C, 107A, 207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser	\$128.00	x 8 = risers	\$1,024.00	x 4=		\$53.75	x 8 = risers	\$430.00	x 4=	
21	6400 W. Price Blvd North Port 34291	Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	\$355.00	x 1 = fire pump	\$355.00	x 4=	\$5,516.00	\$93.00	x 1 = fire pump	\$93.00	x 4=	\$2,092.00
22	Oak Park School 7285 Proctor Road Sarasota 34241	Mechanical Rm 242 - 1 riser Mechanical Rm 243 - 1 riser Mechanical Rm 322 - 1 riser Mechanical Rm 349 - 1 riser Mechanical Rm 431 - 1 riser	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
23	Phillippi Shores Elem 4747 S. Tamiami Trail Sarasota 34231	Rm 210 - 2 risers Bldg 1 - Rm 411 - 1 riser Bldg 5 - Rm 501 - 2 risers	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	\$128.00	x 2 =	\$256.00	x 4=	\$1,024.00	\$53.75	x 2 =	\$107.50	x 4=	\$430.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and c (4) ins Stanc		sting, and Maintenance of	R	oDan Fire	Sprinklers Sy	/stem, Inc.			Simp	olex Grinnell		
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
18	Lamarque Elementary 3415 Lamarque Avenue North Port 34286	Bldg 1 - Rm 132 - 3 risers	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56
19	Laurel Nokomis (K-8) 900 E. Laurel Road Nokomis 34275	Bldg 3 - Rm 307 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
20	McIntosh Middle 701 S. McIntosh Road Sarasota 34232	Rm 519B - 4 risers Gym - 1 riser	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
	North Port High	Bldg 2 - Rms 106C, 107A, 207 - 3 risers Bldg 3 - Rm 118 - 1 riser Bldg 6 - Rm 102B - 1 riser	\$40.00	x 8 = risers	\$320.00	x 4=		\$116.88	x 8 = risers	\$935.04	x 4=	
21	6400 W. Price Blvd North Port 34291	Bldg 7 - Rm 119 - 1 riser Bldg 8 - Rm 122 - 1 riser Bldg 52 - Rm 104 - 1 riser Pump Rm - 1 fire pump	\$75.00	x 1 = fire pump	\$75.00	*x 1=	\$1,355.00	\$116.88	x 1 = fire pump	\$116.88	x 4=	\$4,207.68
22	Oak Park School 7285 Proctor Road Sarasota 34241	Mechanical Rm 242 - 1 riser Mechanical Rm 243 - 1 riser Mechanical Rm 322 - 1 riser Mechanical Rm 349 - 1 riser Mechanical Rm 431 - 1 riser	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
23	Phillippi Shores Elem 4747 S. Tamiami Trail Sarasota 34231	Rm 210 - 2 risers Bldg 1 - Rm 411 - 1 riser Bldg 5 - Rm 501 - 2 risers	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
24	Pine View 1 Python Path Osprey 34229	Bldg 8 - Rm 801C, Stage - 1 riser Bldg 16 - Rm 174H - 1 riser	\$50.00	x 2 =	\$100.00	x 4=	\$400.00	\$116.88	x 2 =	\$233.76	x 4=	\$935.04

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in Stand	de the annual cost by location cost per fire pump) of the fire spections and tests, per guid dards for the Inspection, Test r-Based Fire Protection Systems.	sprinkler systems, for four lelines of NFPA 25 ing, and Maintenance of		Cintas	Fire Protect	ion			Defen	der Fire Ser	vice	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1 - 1 riser Bldg 2 - 1 riser Bldg 3 - 1 riser Bldg 4 - 1 riser Bldg 5 - 3 risers Bldg 6 - 2 risers Bldg 7 - 1 riser Bldg 8 - 1 riser Bldg 9 - 1 riser	\$56.25	x 12 =	\$675.00	x 4=	\$2,700.00	\$26.00	x 12 =	\$312.00	x 4=	\$1,248.00
26	Sarasota High 1000 South Shade Avenue Sarasota 34237	Bldg 1 - Rm 107 - 1 riser Bldg 2 - Rm 107 - 1 riser Bldg 4 - Rm 150 - 3 risers Bldg 5 - Rm 114 - 1 riser	\$62.50	x 6 =	\$375.00	x 4=	\$1,500.00	\$26.00	x 6 =	\$156.00	x 4=	\$624.00
27	Sarasota Middle 4826 Ashton Road Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
28	Suncoast Technical College 4748 Beneva Road Sarasota 34233	Bldg 2 - Rm 002 - 1 riser Bldg 2 - Rm 189 - 1 riser Bldg 3 - Rm 111 - 2 risers Bldg 4 - Rm 114 - 1 riser Bldg 5 - Rm 103 - 2 risers Bldg 85 - Rm Outside - 1 riser Bldg 86 - Rm 106 - 1 riser	\$58.50	x 9 =	\$526.50	x 4=	\$2,106.00	\$26.00	x 9 =	\$234.00	x 4=	\$936.00
29	Southside Elementary 1901 Webber Street Sarasota 34239	Bldg 4 - Rm 402 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00
30	Suncoast Polytech 4650 Beneva Road Sarasota 34233	Bldg 1 - Rm 138 - 1 riser Bldg 1 - Rm 141 - 1 riser	\$87.50	x 2 =	\$175.00	x 4=	\$700.00	\$26.00	x 2 =	\$52.00	x 4=	\$208.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and c (4) ins Stanc	de the annual cost by location to the fire spections and tests, per guid dards for the Inspection, Test reseased Fire Protection Systems.	sprinkler systems, for four lelines of NFPA 25 ing, and Maintenance of		Floi	ida Fire Servid	ce			Piper Fi	re Protectio	on, Inc.	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1 - 1 riser Bldg 2 - 1 riser Bldg 3 - 1 riser Bldg 4 - 1 riser Bldg 5 - 3 risers Bldg 6 - 2 risers Bldg 7 - 1 riser Bldg 8 - 1 riser Bldg 9 - 1 riser	\$128.00	x 12 =	\$1,536.00	x 4=	\$6,144.00	\$53.75	x 12 =	\$645.00	x 4=	\$2,580.00
26	Sarasota High 1000 South Shade Avenue Sarasota 34237	Bldg 1 - Rm 107 - 1 riser	\$128.00	x 6 =	\$768.00	x 4=	\$3,072.00	\$53.75	x 6 =	\$322.50	x 4=	\$1,290.00
27	Sarasota Middle 4826 Ashton Road Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
28	Suncoast Technical College 4748 Beneva Road Sarasota 34233	Bldg 2 - Rm 002 - 1 riser Bldg 2 - Rm 189 - 1 riser Bldg 3 - Rm 111 - 2 risers Bldg 4 - Rm 114 - 1 riser Bldg 5 - Rm 103 - 2 risers Bldg 85 - Rm Outside - 1 riser Bldg 86 - Rm 106 - 1 riser	\$128.00	x 9 =	\$1,152.00	x 4=	\$4,608.00	\$53.75	x 9 =	\$483.75	x 4=	\$1,935.00
29	Southside Elementary 1901 Webber Street Sarasota 34239	Bldg 4 - Rm 402 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00
30	Suncoast Polytech 4650 Beneva Road Sarasota 34233	Bldg 1 - Rm 138 - 1 riser Bldg 1 - Rm 141 - 1 riser	\$128.00	x 2 =	\$256.00	x 4=	\$1,024.00	\$53.75	x 2 =	\$107.50	x 4=	\$430.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and co (4) ins Stand	de the annual cost by location ost per fire pump) of the fire spections and tests, per guid lards for the Inspection, Test re-Based Fire Protection Syst	lelines of NFPA 25 ting, and Maintenance of	R	oDan Fire	Sprinklers Sy	rstem, Inc.			Sin	nplex Grinnell		
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1 - 1 riser Bldg 2 - 1 riser Bldg 3 - 1 riser Bldg 4 - 1 riser Bldg 5 - 3 risers Bldg 6 - 2 risers Bldg 7 - 1 riser Bldg 8 - 1 riser Bldg 9 - 1 riser	\$40.00	x 12 =	\$480.00	x 4=	\$1,920.00	\$116.88	x 12 =	\$1,402.56	x 4=	\$5,610.24
26	Sarasota High 1000 South Shade Avenue Sarasota 34237	Bldg 1 - Rm 107 - 1 riser Bldg 2 - Rm 107 - 1 riser Bldg 4 - Rm 150 - 3 risers Bldg 5 - Rm 114 - 1 riser	\$40.00	x 6 =	\$240.00	x 4=	\$960.00	\$116.88	x 6 =	\$701.28	x 4=	\$2,805.12
27	Sarasota Middle 4826 Ashton Road Sarasota 34233	Bldg 4 - Rm 307, Stage - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
28	Suncoast Technical College 4748 Beneva Road Sarasota 34233	Bldg 2 - Rm 002 - 1 riser Bldg 2 - Rm 189 - 1 riser Bldg 3 - Rm 111 - 2 risers Bldg 4 - Rm 114 - 1 riser Bldg 5 - Rm 103 - 2 risers Bldg 85 - Rm Outside - 1 riser Bldg 86 - Rm 106 - 1 riser	\$40.00	x 9 =	\$360.00	x 4=	\$1,440.00	\$116.88	x 9 =	\$1,051.92	x 4=	\$4,207.68
29	Southside Elementary 1901 Webber Street Sarasota 34239	Bldg 4 - Rm 402 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52
30	Suncoast Polytech 4650 Beneva Road Sarasota 34233	Bldg 1 - Rm 138 - 1 riser Bldg 1 - Rm 141 - 1 riser	\$50.00	x 2 =	\$100.00	x 4=	\$400.00	\$116.88	x 2 =	\$233.76	x 4=	\$935.04

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and of (4) in Stand	Provide the annual cost by location (itemized by cost per riser and cost per fire pump) of the fire sprinkler systems, for four 4) inspections and tests, per guidelines of NFPA 25 standards for the Inspection, Testing, and Maintenance of Water-Based Fire Protection Systems.		Cintas Fire Protection					Defender Fire Service				
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
31	Tatum Ridge Elementary 4100 Tatum Road Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00
32	Taylor Ranch Elementary 2500 Taylor Ranch Trail Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
33	Toledo Blade Elementary 1201 Geranium Avenue North Port 34288	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	\$65.00	x 5 =	\$325.00	x 4=	\$1,300.00	\$26.00	x 5 =	\$130.00	x 4=	\$520.00
34	Transportation Dept. 301 Old Venice Road Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00
35	Venice Elementary 150 E. Miami Avenue Venice 34285	Bldg 1 - Rm 514 - 3 risers	\$75.00	x 3 =	\$225.00	x 4=	\$900.00	\$26.00	x 3 =	\$78.00	x 4=	\$312.00
36	Venice High School 1 Indian Avenue	Bldg 1 - Rm 140 - 1 riser Bldg 2 - Rm 112 - 1 riser Bldg 3 - Rm 108 - 1 riser Bldg 4 - Rm 129 - 2 risers Bldg 4 - Rm 229 - 2 risers	\$57.00	x 11 = risers	\$627.00	x 4=	\$2,958.00	\$26.00	x 11 = risers	\$286.00	x 4=	\$1,248.00
30	Venice 34285	Bldg 4 - Rm 329 - 2 risers Bldg 5 - Rm 111 - 2 risers Bldg 10 - Rm 102 - 1 fire pump - (Diesel)	\$112.50	x1= fire pump	\$112.50	x 4=	φ2,300.00	\$26.00	x1= fire pump	\$26.00	x 4=	ψ1, <b>2</b> +0.00
37	Wilkinson Elementary 3400 Wilkinson Road Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	\$125.00	x 1 =	\$125.00	x 4=	\$500.00	\$26.00	x 1 =	\$26.00	x 4=	\$104.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and c (4) ins Stand		sting, and Maintenance of		Flo	rida Fire Servio	ce			Piper Fir	e Protection	on, Inc.	·
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
31	Tatum Ridge Elementary 4100 Tatum Road Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00
32	Taylor Ranch Elementary 2500 Taylor Ranch Trail Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
33	Toledo Blade Elementary 1201 Geranium Avenue North Port 34288	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	\$128.00	x 5 =	\$640.00	x 4=	\$2,560.00	\$53.75	x 5 =	\$268.75	x 4=	\$1,075.00
34	Transportation Dept. 301 Old Venice Road Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00
35	Venice Elementary 150 E. Miami Avenue Venice 34285	Bldg 1 - Rm 514 - 3 risers	\$128.00	x 3 =	\$384.00	x 4=	\$1,536.00	\$53.75	x 3 =	\$161.25	x 4=	\$645.00
36	Venice High School 1 Indian Avenue	Bldg 1 - Rm 140 - 1 riser Bldg 2 - Rm 112 - 1 riser Bldg 3 - Rm 108 - 1 riser Bldg 4 - Rm 129 - 2 risers Bldg 4 - Rm 229 - 2 risers	\$128.00	x 11 = risers	\$1,408.00	x 4=	\$7,052.00	\$53.75	x 11 = risers	\$591.25	x 4=	¢2 727 00
30	Venice 34285	Bldg 4 - Rm 229 - 2 risers Bldg 4 - Rm 329 - 2 risers Bldg 5 - Rm 111 - 2 risers Bldg 10 - Rm 102 - 1 fire pump - (Diesel)	\$355.00	x1= fire pump	\$355.00	x 4=	φ <i>1</i> ,032.00	\$93.00	x1= fire pump	\$93.00	x 4=	\$2,737.00
37	Wilkinson Elementary 3400 Wilkinson Road Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	\$128.00	x 1 =	\$128.00	x 4=	\$512.00	\$57.50	x 1 =	\$57.50	x 4=	\$230.00

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and co (4) ins Stand	ovide the annual cost by location (itemized by cost per rise d cost per fire pump) of the fire sprinkler systems, for four inspections and tests, per guidelines of NFPA 25 andards for the Inspection, Testing, and Maintenance of ater-Based Fire Protection Systems.		RoDan Fire Sprinklers System, Inc.					Simplex Grinnell				
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
31	Tatum Ridge Elementary 4100 Tatum Road Sarasota 34240	Bldg 1 - Rm 156 - 3 risers	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56
32	Taylor Ranch Elementary 2500 Taylor Ranch Trail Venice 34293	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 411 - 1 riser Bldg 5 - Rm 502B - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 707 - 1 riser	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
33	Toledo Blade Elementary 1201 Geranium Avenue North Port 34288	Bldg 2 - Rm 208A - 1 riser Bldg 4 - Rm 414 - 1 riser Bldg 5 - Rm 503 - 1 riser Bldg 6 - Rm 619 - 1 riser Bldg 7 - Rm 710 - 1 riser	\$50.00	x 5 =	\$250.00	x 4=	\$1,000.00	\$116.88	x 5 =	\$584.40	x 4=	\$2,337.60
34	Transportation Dept. 301 Old Venice Road Osprey 34229	Bldg 1 - Rm 114 - 1 riser Bldg 2 - Rm 222 - 1 riser Bldg 3 - Rm 308 - 1 riser	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56
35	Venice Elementary 150 E. Miami Avenue Venice 34285	Bldg 1 - Rm 514 - 3 risers	\$50.00	x 3 =	\$150.00	x 4=	\$600.00	\$116.88	x 3 =	\$350.64	x 4=	\$1,402.56
36	Venice High School 1 Indian Avenue	Bldg 1 - Rm 140 - 1 riser Bldg 2 - Rm 112 - 1 riser Bldg 3 - Rm 108 - 1 riser Bldg 4 - Rm 129 - 2 risers Bldg 4 - Rm 229 - 2 risers	\$40.00	x 11 = risers	\$440.00	x 4=	\$1,835.00	\$116.88	x 11 = risers	\$1,285.68	x 4=	\$5,610.24
30	Venice 34285	Bldg 4 - Rm 329 - 2 risers Bldg 5 - Rm 111 - 2 risers Bldg 10 - Rm 102 - 1 fire pump - (Diesel)	\$75.00	x1= fire pump	\$75.00	*x 1=	ψ1,055.00	\$116.88	x1= fire pump	\$116.88	x 4=	ψυ,υτυ.24
37	Wilkinson Elementary 3400 Wilkinson Road Sarasota 34231	Bldg 7 - Rm 716 - 1 riser	\$75.00	x 1 =	\$75.00	x 4=	\$300.00	\$116.88	x 1 =	\$116.88	x 4=	\$467.52

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and c (4) ins Stand		sting, and Maintenance of	Cintas Fire Protection						Defender Fire Service			
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
38	Woodland Middle 2700 Panacea Blvd. North Port 34289	Bldgs 1 & 2 - 01-101C - 1 riser Bldg 3 - Room 105 - 1 riser Bldgs 4 & 5 - 04-112 - 2 risers Bldg 6 - Gym 115 - 1 riser Bldg 7 - Room 111 - 1 riser Bldg 8 - Room 101 - 1 riser Bldg 9 - Room 101 - 1 riser	\$59.25	x 8 =	\$474.00	x 4=	\$1,896.00	\$26.00	x 8 =	\$208.00	x 4=	\$832.00
					TOTAL		\$40,762.00			TOTAL		\$14,872.0
		on (itemized by cost per fire su 7 Standards for the Inspection										
Item	Schools/Departments/ Location Addresses	Pyro-Chem ATD 80 SBC (all 14' to 16' above grade)	Cost Fire Suppression System for Fuel Islands	x # cylinders per system	Sub Total	x 2 times per year		Cost Fire Suppression System for Fuel Islands	x # cylinders per system	Sub Total	x 2 times per year	Annual Cost
39	Transportation Services 301 Old Venice Road Osprey 34229	Fire Suppression System for fuel island	\$75.00	x 32 =	\$2,400.00	x 2=	\$4,800.00	\$39.53	x 32 =	\$1,264.96	x 2=	\$2,529.92
40	Transportation Services 4740 17th Street Sarasota 34232	Fire Suppression System for fuel island	\$75.00	x 16=	\$1,200.00	x 2=	\$2,400.00	\$44.69	x 16=	\$715.04	x 2=	\$1,430.08
41	Transportation Services 2080 Citizens Parkway North Port 34288	Fire Suppression System for fuel island	\$75.00	x 18=	\$1,350.00	x 2=	\$2,700.00	\$42.78	x 18=	\$770.04	x 2=	\$1,540.08
	1	1	I.	I	I	1	I		Correcte	d extension (	errors.	<u>I</u>

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and o (4) in Stand	de the annual cost by locati cost per fire pump) of the fire spections and tests, per gui dards for the Inspection, Test r-Based Fire Protection Sys	e sprinkler systems, for four delines of NFPA 25 sting, and Maintenance of		Flo	rida Fire Servi	ce			Piper Fi	re Protectio	on, Inc.	
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
38	Woodland Middle 2700 Panacea Blvd. North Port 34289	Bldgs 1 & 2 - 01-101C - 1 riser Bldg 3 - Room 105 - 1 riser Bldgs 4 & 5 - 04-112 - 2 risers Bldg 6 - Gym 115 - 1 riser Bldg 7 - Room 111 - 1 riser Bldg 8 - Room 101 - 1 riser Bldg 9 - Room 101 - 1 riser	\$128.00	x 8 =	\$1,024.00	x 4=	\$4,096.00	\$53.75	x 8 =	\$430.00	x 4=	\$1,720.00
					TOTAL		\$75,940.00			TOTAL		\$31,396.00
		on (itemized by cost per fire su 7 Standards for the Inspection										
Item	Schools/Departments/ Location Addresses	Pyro-Chem ATD 80 SBC (all 14' to 16' above grade)	Cost Fire Suppression System for Fuel Islands	x # cylinder s per system	Sub-Total	x 2 times per year	Annual Cost	Cost Per Fire Suppression System for Fuel Islands	x # cylinde rs per system	Sub-Total	x 2 times per year	Annual Cost
39	Transportation Services 301 Old Venice Road Osprey 34229	Fire Suppression System for fuel island	\$45.00	x 32 =	\$1,440.00	x 2=	\$2,880.00	\$22.00	x 32 =	\$704.00	x 2=	\$1,408.00
40	Transportation Services 4740 17th Street Sarasota 34232	Fire Suppression System for fuel island	\$50.00	x 16=	\$800.00	x 2=	\$1,600.00	\$28.00	x 16=	\$448.00	x 2=	\$896.00
41	Transportation Services 2080 Citizens Parkway North Port 34288	Fire Suppression System for fuel island	\$50.00	x 18=	\$900.00	x 2=	\$1,800.00	\$30.50	x 18=	\$549.00	x 2=	\$1,098.00
	1	1	<u>J</u> .	Correc	ted extension	errors				1		-

Tabulation for Fire Sprinkler, Fire Suppression System, Fire Hydrant, & Back Flow Preventer Inspection & Repair - Bid #16-0200

and co (4) ins Stand	de the annual cost by locations the fire pump) of the fire spections and tests, per guidards for the Inspection, Test-Based Fire Protection Sys	delines of NFPA 25 sting, and Maintenance of	RoDan Fire Sprinklers System, Inc.						Simplex Grinnell			
Item	Schools/ Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost	Cost Per Riser/ Fire Pump	x # of Risers/ Fire Pumps	Sub Total	x 4 times per year	Annual Cost
38	Woodland Middle 2700 Panacea Blvd. North Port 34289	Bldgs 1 & 2 - 01-101C - 1 riser Bldg 3 - Room 105 - 1 riser Bldgs 4 & 5 - 04-112 - 2 risers Bldg 6 - Gym 115 - 1 riser Bldg 7 - Room 111 - 1 riser Bldg 8 - Room 101 - 1 riser Bldg 9 - Room 101 - 1 riser	\$40.00	x 8 =	\$320.00	x 4=	\$1,280.00	\$116.88	x 8 =	\$935.04	x 4=	\$3,740.16
					TOTAL		\$26,905.00			TOTAL	_	\$66,855.36
		on (itemized by cost per fire su 7 Standards for the Inspection,										
Item	Schools/Departments/ Location Addresses	Pyro-Chem ATD 80 SBC (all 14' to 16' above grade)	Cost Per Fire Suppression System for Fuel Islands	x # cylinder s per system	Sub-Total	x 2 times per year	Annual Cost	Cost Per Fire Suppression System for Fuel Islands	x # cylinders per system	Sub-Total	x 2 times per year	Annual Cost
39	Transportation Services 301 Old Venice Road Osprey 34229	Fire Suppression System for fuel island		x 32 =		x 2=		\$62.00	x 32 =	\$1,984.00	x 2=	\$3,968.00
40	Transportation Services 4740 17th Street Sarasota 34232	Fire Suppression System for fuel island		x 16=		x 2=		\$62.00	x 16=	\$992.00	x 2=	\$1,984.00
41	Transportation Services 2080 Citizens Parkway North Port 34288	Fire Suppression System for fuel island		x 18=		x 2=		\$62.00	x 18=	\$1,116.00	x 2=	\$2,232.00
	*Clarified: Item 4, Item 21, and Item 36 for Fire Pump there is a one time per year charge of \$75.00, not quarterly											

Tabulation for Fire Sprinkler, Fire Suppression System,

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	Cintas Fire Protection	Defender Fire Service
mate be pa with	HYDRANT ANNUAL INSPECTIONS - The Contractor shall provide all labor, travel, fuel, erial, and equipment necessary to perform annual inspections of fire hydrants. Fire hydrants shall ainted, as needed, under the hourly and material categories. Inspections shall be in accordance local authorities having jurisdiction. NFPA 25 standards for fire hydrant inspections, testing, and tenance shall be followed for the following price:		
42	Price per hydrant for annual inspection as noted above and in bid specifications.	\$40.00	\$50.00
the s chan mate orde	VICE CALLS - Indicate the hourly rate as specified for service calls/repairs outside the scope of pecified inspection/maintenance process. Obstruction testing, diesel fire pumps oil and filter ges, back flow preventer systems, and painting of hydrants will be completed on a time and trial basis at one of the bi-annual inspections. All invoices must be itemized indicating date, work r number, location, and service performed, hours worked (standard and non-standard), materials ired, and rental if required.		
43	Hourly rate for standard hours service calls/repairs outside the scope of the specified inspection/maintenance process. Standard hours are Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$95.00	\$80.00
44	Hourly rate for non-standard hours service calls outside the scope of the inspection/maintenance process for hours other than standard hours. Non-standard hours are Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$142.50	\$120.00
MAT	ERIALS		
45	Materials for parts, paint, or repairs to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%
REN	TAL OF EQUIPMENT		
46	On occasion, it is recognized that special rental equipment may be necessary under extreme circumstances. This category is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	Florida Fire Service	Piper Fire Protection, Inc.
mate be pa with	HYDRANT ANNUAL INSPECTIONS - The Contractor shall provide all labor, travel, fuel, rial, and equipment necessary to perform annual inspections of fire hydrants. Fire hydrants shall ainted, as needed, under the hourly and material categories. Inspections shall be in accordance local authorities having jurisdiction. NFPA 25 standards for fire hydrant inspections, testing, and tenance shall be followed for the following price:		
42	Price per hydrant for annual inspection as noted above and in bid specifications.	\$45.00	\$45.00
the s chan mate orde	VICE CALLS - Indicate the hourly rate as specified for service calls/repairs outside the scope of pecified inspection/maintenance process. Obstruction testing, diesel fire pumps oil and filter ges, back flow preventer systems, and painting of hydrants will be completed on a time and rial basis at one of the bi-annual inspections. All invoices must be itemized indicating date, work number, location, and service performed, hours worked (standard and non-standard), materials red, and rental if required.		
43	Hourly rate for standard hours service calls/repairs outside the scope of the specified inspection/maintenance process. Standard hours are Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$78.50	\$89.00
44	Hourly rate for non-standard hours service calls outside the scope of the inspection/maintenance process for hours other than standard hours. Non-standard hours are Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$117.75	\$133.50
MAT	ERIALS		
45	Materials for parts, paint, or repairs to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%
REN	TAL OF EQUIPMENT		
46	On occasion, it is recognized that special rental equipment may be necessary under extreme circumstances. This category is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%

Tabulation for Fire Sprinkler, Fire Suppression System,

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	RoDan Fire Sprinklers System, Inc.	Simplex Grinnell
mate be pa with	HYDRANT ANNUAL INSPECTIONS - The Contractor shall provide all labor, travel, fuel, erial, and equipment necessary to perform annual inspections of fire hydrants. Fire hydrants shall ainted, as needed, under the hourly and material categories. Inspections shall be in accordance local authorities having jurisdiction. NFPA 25 standards for fire hydrant inspections, testing, and tenance shall be followed for the following price:		
42	Price per hydrant for annual inspection as noted above and in bid specifications.	\$25.00	\$50.00
the s chan mate orde	VICE CALLS - Indicate the hourly rate as specified for service calls/repairs outside the scope of pecified inspection/maintenance process. Obstruction testing, diesel fire pumps oil and filter ges, back flow preventer systems, and painting of hydrants will be completed on a time and trial basis at one of the bi-annual inspections. All invoices must be itemized indicating date, work or number, location, and service performed, hours worked (standard and non-standard), materials ired, and rental if required.		
43	Hourly rate for standard hours service calls/repairs outside the scope of the specified inspection/maintenance process. Standard hours are Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$95.00	\$95.00
44	Hourly rate for non-standard hours service calls outside the scope of the inspection/maintenance process for hours other than standard hours. Non-standard hours are Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$125.00	\$120.00
MAT	ERIALS		
45	Materials for parts, paint, or repairs to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%
REN	TAL OF EQUIPMENT		
46	On occasion, it is recognized that special rental equipment may be necessary under extreme circumstances. This category is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%

Tabulation for Fire Sprinkler, Fire Suppression System,

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	Cintas Fire Protection	Defender Fire Service
SUB	CONTRACTED SERVICES		
47	On occasion, it is recognized that subcontracted services may be necessary. This category is to be used only with prior written approval from the Facilities Services representative. Subcontracted services are to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%
Note	s:		
Conta	act	Jason Czech	Nathan Grenier
Addr	ess	9318 Florida Palm Drive	5730 Jason Lee Place
		Tampa, FL 33619	Sarasota, FL 34233
Phon	ne	813-621-6094	941-921-4601
Fax		844-390-0595	941-925-2609
Fede	eral I.D.	31-1703809	45-5352616
Emai	il	czechj@cintas.com	nathan@defenderfire service.com

 ${\bf Tabulation\ for\ Fire\ Sprinkler,\ Fire\ Suppression\ System,}$ 

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	Florida Fire Service	Piper Fire Protection, Inc.
SUB	CONTRACTED SERVICES		
47	On occasion, it is recognized that subcontracted services may be necessary. This category is to be used only with prior written approval from the Facilities Services representative. Subcontracted services are to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.	10%	10%
Notes	S:		
Conta	act	Douglas Glenn	Don O'Lone
Addr	ess	2801 East SR 60	1595 Barber Road
		Valrico, FL 33594	Sarasota, FL 34240
Phon	ne	813-662-5456	941-377-2100
Fax		813-655-5456	941-377-2001
Fede	ral I.D.	03-0546411	59-2780461
Emai	il	glennd@floridafire service.com	customersupport@ piperfire.com
			-

Tabulation for Fire Sprinkler, Fire Suppression System,

& Fire Hydrant, Back Flow Preventer, Inspection & Repair - Bid #16-0200

Item #	Description	RoDan Fire Sprinklers System, Inc.	Simplex Grinnell
SUB	CONTRACTED SERVICES		
47	On occasion, it is recognized that subcontracted services may be necessary. This category is to be used only with prior written approval from the Facilities Services representative. Subcontracted services are to be billed at net cost. MAXIMUM 10%. No mark-up of sales tax allowed.		10%
Note	s:		
Cont	act	Larry Burnham	Daniel Prendes
Addr	ess	8100 East Broadway Avenue, Suite A	10500 University Center Drive
		Tampa, FL 33619	Tampa, FL 33612
Phor	ne	813-621-1357	813-313-1614
Fax		813-628-0143	813-971-8780
Fede	eral I.D.	59-1716869	58-2608861
Ema	il	larryb@rodanfire.com	dprendes@simplex grinnell.com
		Recorded by: Diane Gentile	
		Witnessed by: Joyce Haney	

Fire Sprinkler System, Fire Suppression System, Fire Hydrant, Backflow Preventer System - Inspection Repair - Bid #16-0200 Justification for Award to Other Than Apparent Low Bidder

Vendor	Justification
Defender Fire Service	Vendor was non-responsive to bid requirement of being in business for a minimum of five years as per bid specifications.
RoDan Fire Sprinklers System, Inc.	Vendor was non-responsive to submitting Addendum 1, Addendum 2, and the Revised Bid Form. Vendor did not bid the fire suppression system items of the bid.